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Recombinant DNA Technology

Group-A

Answer any two of the following questions : 10×2=20

1. Write down the principle and procedure of isolation of plasmid by alkaline lysis
method. 4+6

2. Mention the preparatory method of LB broth and agar media. Give a short note on
polymerases chain reaction (PCR). 6+4

3. Write down the procedure of purification of PCR product, digestion of insert and
vector by restriction enszymes for directional cloning. 3+3+4

4. What do you mean by recombinant strain? How do you select the recombinants
using blue/white selection? 2+8
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Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.



Group-B

Answer any four of the following questions : 5×4=20

1. How can you isolate microbial colonies by streak plate method? 5

2. How is DNA segment multiplied into PCR? 5

3. Give the mechanism of stock solution preparation. 5

4. Write down the preparation of competent cells of E. coli DH5. 5

5. How can you select recombinant DNA? 5

6. What do you mean by inoculation of medium? 5
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Or,

Paper - SEC-4T

Bioinformatics and Biostatistics

  Full Marks : 40 Time : 2 Hours

Group-A

Answer any four questions : 5×4=20

1. Write in brief about any two programming languages in bioinformatics. 2½+2½

2. State the role of super computer in bioinformatics. 5

3. What is GenBank? What kind of information we could get from GenBank? 1+4

4. What do you mean by ‘omics’? Find out the alignment between two sequences using
DOT MATRIX. 1+4

Seq 1 : ATGGCTAGA

Seq 2 : ATGCCAGA

5. What is Histogram? How it is drawn? 2+3

6. Differentiate between population vs sample, qualitative vs quantitative data.
2½+2½

Group-B

Answer any two questions : 10×2=20

1. Determine the median and standard deviation of the following scores of weight (in kg)
of human : 75, 82, 64, 88, 59, 60, 72, 67, 55, 90, 83, 64 5+5

2. What is Null hypothesis in statistics? Write in brief about Normal distribution.
4+6

3. Describe pair wise and multiple sequences alignments. Write the name of tools by which
you can perform that? 8+2

4. State the applications and scopes of bioinformatics. 5+5
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